ROOMS TO GO Assembly Instruction

Manufactured by KIZR for Rooms To Go

KIZR: 4021-270 UPH SIDE CHAIR SKU# 42440216
Version #1 - 2024/09/09

**% Caution: Please read all instructions carefully before starting the assembly process. These parts are cumbersome and heavy Therefore,
two people are recommended in order to prevent personal injury and ensure the parts are not damaged during the assembly
*** Note: Do not tighten all the bolts until the assembly is fully complete

Code PART LIST: Code HARDWARE LIST
Allen Bolt ©95/16"*-18*3-1/2" ] 4PCS
A | Chair Back 1PC G cn=o @)))))))))))))))))

H |Allen Bolt @1/4"*-20*2-1/2" @)D))))))))) 2PCS
. I [Nut@5/16"*12 4PCS
B | Seat Cushion @ IPC I |Lock washer ©5/16"@12%3 ) 8PCS
K |Flat washer @5/16"*@19*2 8PCS
€ | Lee® = |ipC L |Lock washer @1/4"*(12%3 @ 2PCS
M |Flat washer @1/4"*@16*2 2PCS

D | Leg(R) ———— J1pC N |Allen Key 4mm — 1PC

O |Open Wrench 12mm — |IPC
E Stretcher (L) 1PC P | Screw 8#%1-1/2" Ju— 4PCS

Stretcher (R)

STEP 3
Do not screw

Hardware Pack Location(s):
4021-270 UPH SIDE CHAIR, SKU# 42440216

MADE IN VIETNAM Residential Use Only 10F1




	RTG P004 AI Model

